


Tiller Angle Adjustment Hardware

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 B,C 1120475-NLA | NLA - Kit, Tiller Mounting Hardware (Invacare 300 1 1
Scooter)
2 Screw, Hex Head (1/4-20 x 1-1/2") 1 2
3 NLA - Bracket, Cable Mounting, Black 1 1
4 Spacer, Coved (1/4 x 11/16 x 1/2") 1 2
5 NLA - Locknut (1/4-20) 1 2
1 B,D 1125361-NLA | NLA - Kit, Tiller Mounting Hardware (Invacare 400 1 1
Scooter)
2 Screw, Hex Head (1/4-20 x 1-5/8") 1 2
3 NLA - Bracket, Cable Mounting, Black 1 1
4 Spacer, Coved (1/4 x 11/16 x 1/2") 1 2
5 NLA - Locknut (1/4-20) 1 2
6 A 1120471-NLA | NLA - Kit, Adjustable Angle Tiller 1 1
7 NLA - Pin, Locking 1 1
8 NLA - Spring, Compression (7/8" L) 1 1
9 NLA - Pivot, Adjustable Angle Upper 1 1
10 NLA - Spacer 1 1
11 NLA - Wedge, Actuator 1 1
12 NLA - Glide, Adjustable Angle 1 1
13 NLA - Pin, Roll (1/8" x 9/16") 1 1
14 Locknut (5/16-18) 1 1
15 Washer, Flat (21/64 x 53/64 x 7/64") 1 2
16 NLA - Bushing (5/16 x 5/8 x 1") 1 1
17 NLA - Pivot, Adjustable Angle Lower 1 1
18 Screw, Socket Head w/ Patch (5/16-18 x 1-3/4") 1 2
19 NLA - Screw, Hex Head (5/16-18 x 1-3/4") 1 1
NOTE: - Includes: ltems 7-19.

o0 o>

- Includes: Items 2-5.
- Used on the Zoom 300 Compact Scooter.
- Used on the zoom 400 Midsize Scooter.




